N = 0l & At & Ml A

2099 = 20l 220 II3SEIAH AA

AN =S
My RO EMBEE
el NASE AN (A2 S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fol=x D 883,478 650,732 232,746
= 155,000
< 38,751
s 689,727
I =MEEH 820,781 591,248 229,533
= 127,830
< 31,958
[ia 660,993
HASS ABNA(AES0ISSL3A) 820,781 591,248 229,533
= 127,830
< 31,958
[ia 660,993
JEZHRNACHILEE(ANRABSOHAALEX) 144,788 170,900 ~26,112
= 115,830
= 28,958
307 21201 A 144,788 170,900 226,112
= 115,830
< 28,958
01 =L =4l 144,788 170,900 226,112
EEELL] 144,788
—ALMBRNH, HHUEET, Q2| =
AR SBHF S 144,788
= 115,830
= 28,958
BRSNS HILARE(BYSSAH) 15,800 17,920 A2,120
2 12,000
< 3,000
s 800
201 €24l 7,800 9,920 22,120
= 5,600
< 1,400
s 800
01 At 22l 7,500 9,320 A 1,820
Oget=gHl 6,070
—E22= WM& 2,500& =1,000H 2,500
= 2,000
= 500
—2A=2=03 M 1,000& *750 4 750
= 600
< 150
—ElH S MRES 470,000& *6H 2,820
= 2,256
< 564
O+ (d==0HyYARS])
70,0003 *3H 32 630
2 504
S 126




AN =S
My RO EMBEE
el NASE AN (A2 S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o=l 800
02 2324l 300 600 A 300
ORERS S 300
2 240
< 60
202 O4dl 8,000 8,000 0
= 6,400
< 1,600
01 = LH 4 1l 8,000 8,000 0
Ogzs0 g2 8,000
= 6,400
< 1,600
220 AXNHMBAEZT (2SS HIKH) 660, 193 402,428 257,765
308 XXM SOIA 660,193 402,428 257,765
07 IXNSHHARE = 660,193 402,428 257,765
Ogzss0 dadl s 660,193
HE2IZH (U= ) 37,697 36,750 947
= 27,170
= 6,793
[ia 3,734
AHA2IH(AZSSHIISELESAH) 37,697 36,750 947
= 27,170
< 6,793
s 3,734
Arell el MERIA OHS (el Ardl) 37,697 36,750 947
= 27,170
< 6,793
s 3,734
101 @14l 37,697 36,750 947
= 27,170
< 6,793
[ia 3,734
03 RIAHA2 2 HE > 37,697 36,750 947
Oz a2l Al el 33,963
= 27,170
< 6,793
OgZE S Ottl 726,530& x23] 1,454
Ois=¢ 80,000& +x12& 960
OXg&el=¢ 110,000 =123 1,320
Heas (==X 25,000 22,734 2,266
BENE(Yd220HISSEsH) 25,000 22,734 2,266
=2=0 Ete=s 25,000 22,734 2,266
802 BHEt= DI EF 25,000 22,734 2,266
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